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1   Find the Perimeter of these sectors 
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C h a p t e r  1 1  C i r c l e s ,  c y l i n d e r s  a n d  c o m p o s i t e  s h a p e s 415
d e f

4 Find the perimeter of each of the shapes below. (Remember to add the lengths of the
straight sections.)

a b c

d e f

g h i

5

Note: There may be more than one correct answer.
The circumference of a circle with a radius of 12 cm is:
A π × 12 cm B 2 × π × 12 cm

C 2 × π × 24 cm D π × 24 cm

6

Note: There may be more than one correct answer.
The circumference of a circle with a diameter of 
55 m is:

A 2 × π ×  m B π ×  m

C π × 55 m D π × 110 × 2 m

1.07 m

31 mm
400 m

WORKED
Example
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